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1. Which of the following terms | 1.

describe 1024 kilobytes?

a. Kilobyte
7 /b Megﬁbyte
C. Tefabyte o
d. Gigabyte
2. An internal storage consisting of | 2.

arrays of small rings of magnetic
material called ferrite is

. Magnetic tape
Magnetic core

Maénetic disk

aoe ¥ op

- Optical mark reader

3. The fastest type of memdry from | 3.

the following list is
a. Tape

b. Semiconductor
c. msk _
d. Bubble memory

4. Which of the following printers, | 4.

are you sure will not use if your
objective is to print om multi
. carbon forms?

Daisy wheel
b. Dot:matrjx
<. Laser
d. Thimble
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Spssrgpd Asradla 1024 Car
oulBsaa af GHLAGSAPS?

a. 8Car@ul
b. Quareul
c. Qugreul

d. £srrwul;.

“Queng.” eTamIu@lD sTEs0 QUrmener
Ap eeaubsars Qslg, aflosurs
SPé&suul Garar e drars Callaou
---------- -~ Grerui.

a. &npHH HELK

b. &ths o drarsid

c. snps

d. glged wris Fi

Qapféd Bs Gauswra foamasd -
ag? -

a. prLm
b. gapé sLjd
c. al@®

d. @uﬂgg foarausid

uaCaip snﬁuér.'uqmrijsaﬂdr ufa
Qe Caar@@uaia, Epé
sraru@elwed - ahs AE&
Qupdrses uuaruBFs wrlwjsdr?
a. QLOel ofd
b. Ll - Culfsev

c. Gasy

d AbQer



6. MODULA is a

5. Which language has been selected
"~ as the basis for the Japanese
“fifth generation” computers

" a. ALGOL b. COBOL
oo PROLOG  d C

A Programm_ihg languajge
b. Low level language
Assembly languége
d. Machine language

7. Pixel is the short form of
- & Picture Element
b. Picture Excellent
c. Picture Light
d. 'Picture Limit

8. CTRL+V is the command to
a. Cut b. Copy
/e'. Paste . d. Edit

9. ASCII stands for

a, American standard code for
/7 information interchange

b. All purposé scientific code for
information interchange

c. American security code for
information interchange

d. American Scientific code for
information interchange

PON14VAD _ 4-C

oo TP

a. Qe

guurelw jsdr | §m§ BHSILD

sHDPOD saflafl & @5E @
SptiueLurs  aps  dumfieuwu
vweru® g derpany ? '

a. ALGOL b. COBOL

¢. PROLOG d C

ibrr@l_a)rr. Grdrug;
a. frerés Gwrf
b. 5é)|_;ﬂmm Qumf

- c. =1QsnGaf Qumrf

d.. G_uvrr;ﬁ -@wmf

Qisd  aaug app  pEde
Aerpaefien e flairssn? o
Picture Elemeént

Picture Excellent

Picture Light

Picture Limit

CTRL+V T@Ib sLLaar @pm@'
Lweru (b

_ b. pst@és
c. @lu S d stlr@é;as'_

. ASCII arerugen efiflaindsid

a. American standard code for
information interchange

b. All purpose scientific code for
information interchange

c. American security code for
information interchange-

'd. American Scientific code for

information interchange



10. The Dutch captured and returned
Puducherry to France by signing

.j.

b. The,treéty of Paris in 1763

‘The treaty of Ryswick in 1699

c. The treaty of Paris in 1815

- d. The treaty of Versailles in 1919

11. “Swatantram”, a tamil daily was
started in the year '
_a 1934 b, 1947
c. 1928 o d 1943

12. The last French commissaire in
' India was ‘

a. Charles Francois Marie Baron
b. Charles Chambon |
. C. Andr_é Ménard
4. Georges EScéi'gueil

13.  The pottery fouﬁd in Arikanmedu

was of origins
_a. Roman b. Greek
- ¢. French d. Egyptian

14. 'The French traveler who was the
personal physician at the court of
the Mughal emperor Aurangzeb is

_a. Francois Bernier
b. Jean-Baptiste Colbert
c. Cardinal Richelieu

d. Francois Caron

10.

11.

12.

13.

14.
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ygECefleow Lés prigeny esiupd
Bamr@o 9Qrgs prigdE Bhs

e Laugs@sdar pob AsTGsaT.

a. flaveltd zu.s'uruqédm, 1698

+

'b. urfiév 2 L@ugEms, 1763

c. unfléw oL érugéaes, 1815
d Qajsidd ot dugias, 1919
sppfyd  aap  slp  prefisp
quCurgy AsrLmslulL g?
- a. 1934 ‘b, 1947
d. 1943

c. 1928

@gb,ﬁmmﬁlé- sa)L.Qans . PDoEs
9Qrgss s5CGavy wmy?

Frjaen ﬂqnér&rrtua:\) Gufl CuChrer
LT CabCumer .

e’ Gy Cuwarry®

=R L

W e & @

SREECLI K sATAL_@Es0UL Gdrer

wLUTENLRGE  ahg - BrL@LF
Gerhgmal ?

a Gprd b. 8Grésn
c. GQyesa d. afog
psaorwu  waej garghsfidan
soulfd pevFreT WLHSHUTTS

veflwrpflu 9Args a@uGurssy
wmy? ‘

a. Qrrarsrie Quieliwy

b. Gge’ut—urrutq.dm"_ aroQuil

C. &Njigerd rﬂ&'aSlu.[‘_
d.

@rransmiey srGymer



15. Kannagi Puratchi Kaapiyam was

written by

a. Bﬁarathiar

P Bharathidasan
c... Prabanjan

d Kalki

16. The list of coded instructions is
called - '

&
b. Algorithm

Computer Program

. ¢. Flowchart

¥ : ~d. Utility prograni

Which airlines on 19 Jan 2014
flew Boeing 777 plane powered by
Bio-fuel?

/a._ Etihéad airways
N b. British airways
‘ c. US airways
d. Singapore airlines
18. In the Environment Performance
Index (EPI) released on 25

January 2014 ranked out of 178
countries, India was ranked as

a. 140%™ b, 155%

c. 135t 4. 170t
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15.

16.

17.
- Ppaafa  Cumdn

18.

semandl yyC A& sroQuibd  eTarp
preve srpHwany

a. u ryHwrf

b. unpfgreew
c. Qpugssen
d. so8

GASL® fapssosarad
LJI'_lq_I.IJG.\J ——————— mommemess oremm
a@pssliuhapg.

a. sabal fya }
b. Gl

c. Gpjﬂ@'mm e arEELILiLID

d. uuerewiy Bréd

19 garafl 2014 @& eaps elwrer
777 7%
dorad - 2@f  aRQuig@ers
Qsran(p QswerpoiIuLLg ?

a.  eTig@nrL qﬁcmdu
b. Qflyey gjGaue
c. w.ae gjGaed

d. fArslyl gfoadra

LB 25 gaaf 2014 b @ ®

QaefdLnuce . Qur@errsnyg
Qeupfpar @Riilgd GLbAupp
178 pr@seio @pHwur
prrs Sspdpg
a. l40ag

b. 155eug

c. 13bHeug d. 170eug



19.

a

- 20.

21.

22,

A

b

The “race of my life” is the

 autobiography of? -

a. P.T. Usha |
b. Shiny Abraham
c¢. Usain Bolt

A Milkha singh

India has offered US § 150
million of credit for project exports
for establishing a special economic

~ zone at Sittwe in?

a. Afghanistan

_b. Myanmar

c. Sri Lanka

~d. Nepal

Kerberos and Styx are the moons
of? : o

a. Uranus
b. Neptune
Pluto

d. dJupiter

The early tsunami warning
system was installed recently at
Rangachang in ' ‘

- a. Daman & Diu

. Andaman & Nicobar Islands
c. Lakshadweep
d. Pudhucherry
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“Grev U1 @ @i’ a@Eus

Qary swsfleg

a. P.T. ocqnm

b. esai glﬂqan&
c. casa Guralr

d. lﬂé):esrr_ A

————————————————— prigear A Canda,
Qurmarngry WETL Db
Sanighd Aurer @, @pHur 150
Sodudr Hdufiés Lreer Sl
FHpwdsErsETs sLgsuns
apndugy

HAply

a. guarafevgrer
b. Burenog.
c. Qeonas

d. Cpurerd

QsjuGrred LHHD ML EEV
Carefler Heoasearmgh

©a. yCrewev

b.. Qpligyyen
c. @G

d. @G'

wrfesfe oda Fassrhid
sBusfd serd aderésfizwss
smal QurEmSFIULL S '
a. Lroa & @Lg

b. eipswrar BCsmury Saysar

c. alsgfay

d. yzsGaf




93,

24.

25.

26.

PONTAVAO

Reserve Bank' of India uses
reverse repo rate to? :
a. Reduce the fiscal deficit
b. Increase liquidity of commercial
banks T
c. Increase liquidity in the
market :
d. ' Absorb liquidity from Qommercial
banks ' |
‘Forint’ is the currency of which
country '
a. Suriname
b. Iceland
e Hungary |
d. Croatia
Who among the following

‘archaeologists excavated the |
 famous city of Mohenjo Daro?

a. Daya ram sahm

/b R.D. Bannerjee

c. MS Vats
d. Y.D. Sharma

Along which of these river did the
Vedic civilization flourish

~a. River Indus

~b. River Gaggar
/c./ River Saraswati
d. River Tista

23.

24.

25.

26.
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fleja aid QarCarrsd ACGurm
dipsms app@ LUALOSHEDS?

a. RA0 UpOTEGPD@ U

G@PUUEDG

b. aals wbdsde Cu Ll -
ypissas SHsfés

c. s;’bmguﬁld) umquésgmg
sfaflas -

d. .e.lswﬁ& | andsaiaLGw

uesl

Lypéssas GRPOLSDE

‘Lrfle Gréirﬁg aps  PrLgen

‘ prr_m'u.lmrr@m?
a. &fpmd
b. gdum.rr;‘bg
c. gpn'n(%a:uﬂ

d. @Gl}nﬁuirr

GursghssrGrraal s pal g Fs
Qeig Byewy wij?

. a. pum gmd gareaf

'b. R.D. unenig

c. M.S. apd

d. Y.D. en'nmr-

aps pHder swua;aﬂc;n' Cap
prafish sepsCaradug? -
a. aﬂrjg |

b. s&&7"

c. sgavard

d. Sevgm



27.

a

28..

s

29. -

30.

FON14VAQ

Which of the following Vedas deals
with the procedure of sacrifices?

Yajur Veda

b. Ri,gr Veda

c. Atharva Veda
d. Séma Veda

Name the. source from which
litmus solution is obtained

4. Base

" b. _Virus

c. Aad
d.” Lichens

Factory wastes contains

/a.. Acids

b. Bases

¢. Neutrals

d. - None of the above

The .tendency of a liquid drop to
contract and occupy minimum

- area 18 due to

/a-

Surface tension

~b. Viscosity

c. Density

d. Vapour pressure

217.

28.

29.

30.
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ull Aer(HEgd e pswaer
Qzeflains a@sgarsdearng

a. wgef Gagd
b. fis& Caugid
¢ Puyj Gagw -

d. sro CGagh

Scwd  Hrelwud

aBSmha
surfl&siu@apg ? '
a. .El-rlﬂ.b
b. -GE)Q.II]’G('IJ
c. AT T
d. .L.III'@I:IH,@G)E

oas sfasdd Qe Pmsgw

a. glleb
. b. sy
c. phflee salwrisdr
d. @aphe Grgeq’u': Qame
g6  Srasgyel G®DHELLS

upliuaTeE@Er &hE G S nESTen
ETHTD cTeNan ?

a. ugliy @@tﬁaw

b. urgfee

c. SLiHH

d. el 2AWsHsD




31.

32.

33.

34.
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A hollow sphere of radius R, a
hollow cube of side R and a
thin circular plate of radius R,
made up of same. material are
all heated to 20°C above room
temperature. When left. to cool
in the room, whieh of them will
reach the room temperature
first. - o

~ a. Circular Plate
" b. Cube
. ¢. Sphere

4

All of them will reach room
temperature at time.

A black hole is a body in space

which does not allow any radiation |

~ to come out. This property is due
to its - ) - '

a. Very small size

b. Very large size
P Very high density
. d. Very low density

When a mirror is rotated by an
angle g, the reflected ray will’
rotate by ' . :
a.) 0° b) /2 -

c) 0 )20

Which one of the following is
paramagnetic nature?

a. Iron ‘b. Hydrogen .
.2 Oxygen d. Nitrogen

31.

32.

33.

34.
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@Gy QurgpeTi® o HATESILULL @
o arefLpp Carargdar mo 1R, @6
o GrefLpp SeTEgTSHer LEED 1R
wHp @G Guaddlu - alLora
slpar b 1R. Qea SNSTEEHD
S puder Qailiu fleoaaus

&g @b 20°C @GLppiu G Wery
Gair@aisiu@lapg. gaip e
app wgean daydd S@plean

Qaiufieeau A@LYD?

a. alL gi@®

b. sensgmb '-

c. Gasmwerd _

d Qeoa @i d QGII. Cpysfe
Si@MLYd

.e&]akramaﬂuﬁlé o Grar k@ﬁgﬂ)m&@& (

ugh aads sfjadésn Qeuefleay
PRUTESHE STTaD BT

a. B&sFfHu siara) .

b. uSlSDGuﬁhu ‘amsq '

c. A& sfswrar JLjEH

d. fS&s @eparer L7558

gn sEnerTTReu g G&nﬁgﬁd)

Amulend afAyrdssiucL sf§

—————————— aarp Garemsfa HEbYD
a) 0° b.) 9/

c) @ d) 28
Qapde aps gaflio1b LR T&ei.&
SETELD Qe g ?

a. @by
c. spbaligen

b. aaplyger
d. e plLygew
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35.

TV remote'-coxlltrol unit use to
operate TV? '
a. Light waves T#
b. Sound waves
c. Micro waves
d. Radio waves

/ .

36.- Which one of the following
elements is essential for the
construction of nuclear reactors ?
a. Cobalt -

b. Nickel .
‘ /c. Zirconium
d. Tungsten
37. Most of the exi)losions in mines

A

38.

Which one of the following does a

occur due to the mixing of
Hydrogen and Oxygen
Oxygen with acétylene :
Methane with Air 49~ oL

Carbon Dioxide with ethane

Acid rain is caused by the
pollution of environment by

a. Carbon Dioxide and Nitrogen

b Carbon Monoxide and Carbon
Dioxide

c. Oxygen and Carbon Dioxide

_~d. Nitrous oxide and Sulphur

PON14VAD
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35.
. Epasngy b

. 36.

37.

38.

Qgreoessrif fCorl sarCGrrd
dady @ @oaw
uwaruBSSE DS 7

gall @a

a.
b. gdl s@a

o

5l 6T G 60

A

CryGur e

- S@olushES
SiHurarfwwrer

csu@ . o masdr
Cgaailiu@Bw
seflon aH?

a. GarurédL
b. fésa. |
c. @BiCasrafiwb

d. ChievLér

spismsaid ghu@d Qe eﬁluggai;ﬁr
app amyssdia Caddamerured

gpu@dps? .

a. &fgCar(®) eaplyRer.

b. &fgCGen® 2AQFL g e

c. smpCpr@® BCHar amy

d. snuer-@L-gE@sCLI® #ngﬂ |

“ g fla weayp” caa®s arysseear
PG wrsurlLrd gHubGing ?

a. a;rn'ruér-ml_—@é;dw@ bHEHIo
ra)‘lgl_'-ugér
b. &rjuenr Guranéas®-

Wy b
sjue-a@L-Pia s :

c. &flmen wHHD

ENTUGH- DL -QEDFH
d. eplyeéd RE@sG LHHDL FOULT
- L-pEDFH
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Which one of the following
organisms can serve as bio
fertilizer for rice crop?

Vs
b. Rhizobium SP

39.
Blue green algae

Mycorrhizal fungi
d. Azotobacter SP

f

Given below are the names of four
energy crops. Which one of them
can be cultivated for ethanol *

. b. Maize

40.

A Jatropha

¢. Pongamia - d. Sunflower

A pesticide which is a chlorinated
hydrocarbon is sprayed on a food
crop. The food chain is : Food crop
_ rat — snake- hawk. In this food
chain, the highest concentration of
the pesticide would accumulate in .
which one of the following?

41.

"b. Rat
/d. Hawk

a. Food crop

¢. Snake

42. Mahy transplanted seedlin'g do
not grow because -

a. The new soil does not contain
favourable minerals

b. Most of the root hair grip the
new soil too hard

Most of the root hairs are lost
during transplantation

e

d. Leaves get damaged during
transplantation

PON14VAQ 12-C

39.

e TP

40,

41.

e dflagfe

42.

&ggé;a;rrgub' o ol fl e i &6l & -cré,nas

Qppulmée ~ =df 27L&
vuaTu@EsIUGEPS?

' fonius@sl LTé

@yGsmiwib SP

awlsrfisd Leras

G GLr uréLy SP
ahpTd ahE BPHOD uod fied

QAmbg su rRssiu@aApS ?
\1 .

a. srlLmoewé® b. wssréGemamd

c. Ymas

d. sfiu srpd

GGarnfler s&&EIUCL @apl Crrsnjuen
LEAEQsTOE 2 ama)U plfiar Gue
Qsefasnu®8pg.  BDE o ana|Ll
Lifey cargun - odl, eadew
o @b UMDY, ULTD@®U o RTEILD
umbE TEp D eTaF sraddle abg
afs SjsHure
e ysfaQerdd sramiu@n?

a. eamauuly b. ead

¢. umby d. umbs

pLULCL prppsaiie OQ@LburrémaTmeJ

. aerymod CuTQIZHGE STTEND

a. ydw e,
FrgEadT @oaraw

Ggeneuwman

b. Qugburerer Cajpyad S
weremen Ha AHsw0TE
@usuuppaig. _

c. Qumbureaa CafQprsd BTHH
pHBAUTE CsgwaLag

d. prpp pHOLGUTH Poesdr
Gezwen g



43.

44.

45.

46.

PON14VAQ

e Xerophthalmia

The nutritional deficienc.y
condition that needs to be given

top priority for remedial action in

India today is
a. Scurvy
Rickets

d. Pellagra

The blood glucose
commonly expressed as

~a. mm of HG
.‘ b mﬂligréu_n per deciliter

c. parts per mil]ion

d. gram per litre

The marine animal called ‘Dugong’
which is vulnerab‘le_ to extinction is

a ainiphibian '
b. Jbony ﬁ_sh
c. . shark |

d. mammal"

A sandy and saline area is the
natural habitat of an Indian animal
species. The animal has no predators
in that area but its existence is
threatened due to the destruction of
its habitat. Which one of the
following could be that animal

a. Indian wild buffalo
Indian wild ass
c. Indian wild boar

d. Indian gazelle

lervel is
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44,

45.

46.
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@pdurde aps sh5é G@PuUIl
Gprerw. @fEs s@ewry
wpsaewuaigs BLaIREDE
aBssiiuL Gauer@wn?

a. evsjeil " \
b. fléslav

¢. QeGyrigréodwmr

d Quoersryr

SrsssHen siEs® emmﬁm eI
GHAmAPai? : '

a. mm HG
b mg / di
¢. ppm
d g/l
Qapfled sLdamrp ‘o WHarnorer -

“Garh” aps au@sMuE STTHSH?

a. fifle arp AQyrenf
b. pamber

c. &mr

d. ] 1), (R "

plyb wargh s ugHad
arph Qadaoneas CalaLwre
GalQprm dAorg QPoorsgGurgyb,
g arpad. sfard wHhgd
sPfuyd Aoeld odagy. Aps
afla i@ ‘

a. @;r;gﬁu.: ar_dLmann
b. @s8w a;rri;@és@wg; 7
c. @pdu sui@ﬁudrgﬂ
d @ndw e



47.  Corporation téx:. :

L

48.

a. Is levied and appropriated by
~ the states

b. Is levied by the union and

collected and g_ppropriated by

“the states -

¢, Is levied by the union and
_shared by the union and the
states E : ‘

Is levied by the union and
belongs to it exclusively

The Employment Assurance
Gcheme envisage financial
assistance to rural areas for
guaranteeing employment to at
least

a. 50 % of the men and women
seeking jobs in rural areas

b. 50% of the men se_eking jobs
in rural areas

¢. One man and one woman in a

/" rural family living below the

poverty line

d. One person in a rﬁral landless
house hold living below the
poverty line

49. Debenture holders of a company

PON14VAQ

are its

Share holders
Creditors |
Debtors

a.
Pt
C.
d.

Directors

47,

48.

49.
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: b. wsHw

Longba:r;n;;é\ auffl

R EEIIC

a. wrfle SITETQR
FENBNEEH QamerarIL(HD
ogsned  eNdsslull.

- wriemse @S saBNEE s

GlSsns'r\_r@Lb_ T

c. WU HTETD éﬂ@éﬁéuuﬁ_@ wsHu

mnﬂm'aqaa@éﬁmpﬁm udlL (&
QarareruBID B

d. wgdu 'éqr;&rréu @HasIUCH

genpTEE S Qaratem LD '
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Symioliymisefie GODHSULEFDTE
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o phuaiss HE opel auphsHLGEDS)
a 50% Gaame arooy GsGW
Srroliun e, Querset :
b. 50% Ceaere - @mlly Gg,@m
Moty HEmEET. ' :

i ~

c. 'eﬂu'rrmu-qg)g@d) Qa0 Canlah@s

&p aunpd geldean® GHusHgd
FOT @ pdT LHYID. @@ Qudn

A"d. agow CarlyhGs &p eumgpw

Aedloanr Srmouyp GHLUSDSS
Csihs G(HeuT ' .

LI (G <2}, 6L T [EI 60 6T aeusHmIGUNT
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a. UBIEST]
b. uppwery
c. sLamal

- d @uésep)



50.

- 51,

b2.

Which one among the following
industries is the maximum
consumer of water in India?

Engineering
b. Paper and pulp - -
c. Textiles
/d. Théi‘mal'pbwer
Scheme of (T) Urbén Micro-enterprises
(D) Urban Wage Employment and

(ITI) Housing and Shelter
Upgradation are parts of

- a. Integrated Rural Development

Programme-
b. Nehru Rojgar Yojana -
d
c.

Jawahar Rojgar Yojana -

d. Prime Ministers Rojgar Yolana

Tn terms of value which one of the

following commodities accounted |
for the largest agricultural exports |
by india during the three year
period from 1997-1998 to 1999-

20007

a. Cereals

~b. Marine products

¢. Spices
d. Tea
53. Among the following which one
"~ has the minimum population on
the basis of data of census of india
20117 ‘
a. Chandigarh b. Goa .
¢. Pudhucherry. /d. Sikkim
PON{4VAO ' ‘

50.

51.

52.

53.
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P.. R

c. UgsEGaf

Epanrgy Asmfinsreraseia
saraday Adsd vwuHUBEHL
Qgrifpsraa oag?

4. &L {Hwrapd

b. &rdgw wHHD i

c. Qpsarma

Sand e Baawn

1) psiup Ag@smiod Hpeersd

D) psjyp eafu Gaee amiuy

(I1T) SG wpgd shGAL Gobur®

Awama BFHI1L FHar UTERISATTEGLD.

a. gouiearss Sgroiyp
Guhburn @ Hlrb

b. Gpw Cameamity Sl

c. gaan] Cameoarmitng b

d. @rswo m;béﬂaﬂﬁér Camoamiiy .

b -

1997-1998  aps@  1999-2000
aaplarer gparpran@said Gaarmer -
gppwfle ---------- ‘fa sifswrar
QupTer gpet LETE HEPHSH-
a. graflwniser :

b. sLaosry deaadurglsdr
c. lgTamls Qurr@f.a;s‘rr

d Cslaa -

2011 =1b .gmnq_m pésE AgTas
saniQa@ullar vy SpssarLapda
abgs wrian Hss GEPHs wsE
Qsres@ows Qsrer(drarg ? '
| b, Garar

d fsdp

a. seg.&l



54.

Which one of the following porfs

" of India handles the highest

a Calcutta

tonnage of import. cargo?

° .t

/b.‘ Kandla 7 '

, c. Mumbai

55.

d. Vishaképattinam

What is the system of governance

in the panchayat raj set up

-bh. Two
government at the village and

a. Single tier structure of local
self government at the village
level |

tier of local self

the block levels ‘ :

L. Three tier structure of local

self government at the village
block and district levels

_d. Four tier system of local self

government at the village
block,. district and in the state
levels

56. The speaker can ask a member of

the house to stop speaking and let
another member speak. This
phenomenon is known as

a. Decorum

b. Crossing the floor

¢c. Interpellation

/d. Yielding floor

PON14VAD

54.

35.

56.

16-C

Qaipfe aps gappsd Ghurdd
SPsuLE @pés@uwd FrE@GEMas
asurardpg ?

SR

CardssHsn

b. s@wler .

c. @pbepy

d. eflsrsliuligerd

ugsTLEE IY cg,n;eﬂqpa)gjmmu
Qurpsseuay Spssnaruapa ag
sfiunerg ?

a. Symonsde grhsE Sewly

b. dgron wHnd AsTGH e
@ran_(é@ @iy

c. - ymow, AsrGd, wrail LD erar
apdrp(BéE @Y '

d. fgmon, AsreS. o Lib HHID
wrfleown erear prensRsE Sely

;Ll_&a)uuﬂsb Cuilsé Qarary@sG

em o gty Pnsss
Geradddr @, CGalprm BLeT
FUTHTLE] Gus @plU@G -------"
eraruf '

a. BPUTE®G

b. sou whlfze .
c. @eLof darn

d. seou @ewméad




57.

The name of the famous person of
India who returned the knighthood
conferred on him by the British
Government as a token of protest

against the atrocities in Punjab in

e

58.

1919 was

a. Tej Bahaduaf__Sapru

b. Ashutosh Mukherjee
‘Rabindra Nath Tagore
d. Syed Ahmed Khan

&

Where were .the Ghadar
revolutionaries, who became active
during outbreak of the World War
/ based?

a. Central America

_b. North :America -

39,

c. West America

d. South Ax-ilerica.

Which one of the following
aroused a. wave of popular
indignation that led to the

massacre by the British at
Jallianwala Bagh?

a. The Arms Act

b. The Public Safety Act

. The Rowlatt Act

PONT4VAD

d. The Vernacular Press Act

57.

58.

59.
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I

sudCowjssr  afiss &5
ulLg®s, UGsT URGsTRasE
afdiiy Qpfidlsgb elgwors gps
B ——

a. Gp@ usrgii sLm -
b. .awi(gasrrdq. wsif
c.. reifSrprs gmgui

d esiug &0y srer

wgord cosl Gurfler rbu
sLLGSa 1F.¥3 S uGur®
QewaulL “sref yrldwrarjadr’

qhugHle adjsaisd?
a. mgﬁm AL %

b. aL HQufigsr

o

Gopg <dwfisar

. d. Qpar aQuwfésT

Epssngnd sl msalle abslLsHDE
aflrrs wasar Grlewayw Gury
“ordluer arer urd”’ u@QAsrae
Qadraanujsend 2yECEpPUILCLE?

2. QUsE LD

b. Quagwasdr urgaTuy FLLLD

c. Qrarerl &LLLb

d. sri@Qumfl ufuus ¢lLid




60. For the Karachi session of Indian
National Congress in 1931
presided over by Sardar Patel, who
drafted the Resolution on
Fundamental Rights and
Economic Programme? .

a. 'Mahatma Gandhi

/b. Pandit Jawarharlal Nehru
c. Dr; Rajendra- Prasad
d. Dr. BR. Ambedkar

61. Quit India movement was
launched in response to

Cabinet Mission Plan
Cripps Proposals |
Simon Commission Report

Wavell Plan

N

62. Which among the following was
the first municipal corporation set
up India in the year 1687?

A Madras Municipal Corporation
b. Bombay Municipal Corporation
Delhi Municipal Corporétion '

d. None of the above

63. In 1953, under whose chairmanship
was the first OBC Commission
formed? '

a. Joachjfn Alva
,b./ Kaka__Kélelkar

¢. Hardekar Manjappa
d. K.K. Shetty

60.

61.

62.

63.

PON14VAD . 18-C

1931y @@ FHETT QUM

LG swemwld pLBEE QFHu

Cazflu srmdlpfer syrif wIETLKE
Sl o_flenwaer 1) gy Lb
Qurmerngry S sHparer Sorargans
agdwealf wry?

wErHWr &b

a
b. uewys gafanjerd Gk

o

Dr. qn‘l(ng[b@u Qrarg
d. Dr. B.R. obGugasny

“QaisradruGar QaaCuy” Guishd
agh@ THITs FeussuiulLgy?

ADWESTOU HHEGLW

a.
b, Afiud FrEEGLW

C. DEFNEH FHEGW

d CGawa Hlb

GiHundd gpserapepuns 168790
Qe  SpeavucL Lofrpan;rn'_eﬂ‘

Qasnemar -

a

b. uibuml
c. fad

d. Cupsréruma o

1953 g 1b ey 05 Hw
Qpu@ssHu’_ Gy @emwubd, wrggy
gaamwlar & o mardsiulLg?
a Cgrifp goar

b. arer srCeas]

c. aniGL&] wgpsliur

d C&s.Gs. Qely



64. Consider the following events of

Indian National; Movement

1. Gandhi Irwin Pact 3;

-1i. Poona Pact .

iii. Karachi Session of Indian
National Congress 3» -

iv. Individual Satyagraha.

Select the correct chronological
order of the events from the codes

given below:

deeS'_ -
_a LIOLILIV b ILILIV,I
e HOLIVILT S d IV IILILI

65. .In Los Angeles, a political

PON14VAO

candidate who buys saturation
radio advertising will get
maximum name recognition.

The statement above logically
conveys which of the following?

a. - Radio advertising is the most
important factor in political
campaigns in Los Angeles.

b, Maximum name recognition
in Los Angeles will help a
candidate to win a higher
percentage of votes cast in the
city.

c. Saturation radio advertising
reaches every demographically
distinct sector of the voting
population in Los Angeles.

/d. For maximum name recognition,

- a candidate need not spend on

media channels other th_an .

radio advertising.

64.

65.

19-C

Eipsmnggy b mqa}nﬁjg Papajsmar

staafleasiuy GCgie

Elﬂuﬁm
Qe

i stpd @idar @UUpSD

1. penm guu‘{_'r,.e_r,Lb'

1. @E@m Gﬁeﬂm erhdrfar syTid
wrpr ' '

v sefluul L ssHurdrsn

b. ILIILIV,I
d IVIILILI

a LIILILIV. -
¢ IILIV,ILI

In Los Angeles, a  political
candidate who buys saturation
radio- advertising will -get
maximum name recognifion.

The statement above logically
conveys which of the following?

a. Radio advertising is the most -
important factor in political
- campaigns in Los Angeles.

b. Maximum name recognition
in Los Angeles will help a
candidate to win a higher
percentage of votes cast in the
_city. ' '

c. Saturation radio -advertising
reaches every demographically
distinct sector of the voting
population in Los Angeles.

d. For maximum name recognition,
a candidate need not spend on
media channels other than
radio advertising. '




 66.

67.

68.

* their daily routme

Having attended the office
procedures course all employees
are expected to what they
had-learned and introduced 1nt0

/A Reinforce
¢. React -~ d. Resource

Choose ,the wrong part in the
seéntence. Are / you involved / in
this- project? / are you?

a. Are
b. you involved
c. in this project

_ }1 are you . )

Choose the wrong part in the
sentence. Mahavira / was / a
advocate / of non violence.

a, Mahavira

b. was

At a advocate

d. of non violence

69. Try as many languages
as possible.
a. learnt _b. to learn
c¢. learn d. léarning
70. Select the odd one out:
a. Judge b. Chamber
. Tennis d. Lawyer
71. Replace the underlined word with
synonym: The President was
-glven a hearty welcome.
a. Cold _b. Warm
c. Warmly d. Cordially
PON14VAD

b. Respond' _

20-C

66.

a. Reinforce

67.

68.

69.

70.

71.

Having attended the office
procedures course all employees
are expected to what they
had learned and introduced into
their daily routine -~ |

b. Respond
¢. React d. Resource

Choose the wrong part in the
sentence. Are / you involved / in
this project? / are you?

a.  Are

b. you involved
c. in this project
d. are you

Choose the wrong part in the
sentence. Mahavira / was / a

“advocate / of non violence.

a. 'Mahavira
b. was -

c. a advocate
d

" of non violence’

Try - as many languages
as possible.

a. learnt b. to learn
c. learn d. learning

Select the odd one out:
b. Chamber
d. Lawyer

a. Judge
¢. Tennis

Replace the underlined word with
synonym: The President was
given a hearty welcome.

a. Cold b. Warm
¢. Warmly d. Cordially
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72.  Don’t worry. It’s: safe. You
- won't fall. '
a. finely b. deeply
c¢. fully A completely
73. The future will be —— shaped
by technology. ‘
a. merely _ b. specia]ly
&< largely d. purely
74, Tt is — true that education is
becoming global.
a. exactly ‘ b. reliably
P2 certainly d. fully

Answer the questions after reading
the passage given below:

' Sometimes we went off the road and on

a path through the pine forest. The floor
of the forest was soft to walk on; the
frost did not happen as it did in the
road. But we did not mind the hardness
of the road because we had nails in the
soles and heels. Nails bit on the frozen

. ruts and with nailed boots it was good

walking on the road and invigorating. It
was lovely walking'in the woods.

75. ‘Frozen ruts’ means
very cold roads

wheel marks in which frost
had become hard

.. the road covered with frost

d. hard roads covered with snow

73.  The future will be

safe. You

72.  Don’t worry. It's

won't fall.
a. finely b. deeply

C. -_fu_lly d. completely

i

shaped
by technology.

. a. merely b. specially
c. largely d. purely
74. It is true that education is
: becoming global. -
a. exactly b. reliably

¢ certainly d. fully

Answer the. questi_ons after reading
the passage given below:

Sometimes we went off the road and on
a path through the pine forest. The floor
of the forest was soft to walk on; the
frost did not happen as it did in the
road. But we did not mind the hardness
of the road because we had nails in the
soles and heels. Nails bit on the frozen
ruts and with nailed boots it was good

- walking on the road and invigorating. It

was lovely walking in the woods.

75. ‘Frozen ruts’ means
a. véry cold roads

b. wheel marks in which frost
had become hard

the road covered with frost

d. hard roads cbvered with snow

PON14VAO : 21-C




76.

/a.

The floor of the forest was soft
because

the forest did not harden it on
account of trees

b. the traveler were Wearmg
boots

¢. the shoes Kad nails on their
sole ‘and heel

‘d. they enjoyed walking in the

77.

woods

We did not mind the hardness of

 road because

. we had nailed boots on

78.

79.

g

PON14VAO

b. it was good Walking on the road
¢. ‘the walk was refreshing
d. the nails bit on the frozen roads

We found great joy on account of
a. wearing nailed boots
b. the good long walk on the road

c. walking occasionally through
the forest

d. walking on frost with nailed
boots on

Sometimes we walked through the
pine forest as

a. the path was unaffected by the
frost

b. it was good walking with nails

in the boots
the walks was invigorating

d. it was sheer joy to walk in the
forest

76.

7.

78.

79.

22-C

The floor of the forest was soft
because '

a. the forest did not harden it on
account of trees

'b. the traveler were Wearmg

boots -

c. the shoes had nails on their
sole and heel

d. they enjoyed walking in the
woods

We did not mmd the hardness of
road because

a. we had nailed boots on
b. it was good walking on the road
c. the walk was .refreshing
d. the nails bit on the frozen roads

We found great joy on account of -

a. wearing nailed boots
b. the good long walk on the road ‘

¢. walking occasionally through
the _forest

d. walking on frost with nailed
boots on -

Sometimes we walked through the
pine forest as

.a. the path was unaffected by the - -

frost

b. it was good walking with nails
in the boots -

the walks was invigorating

d. it was sheer joy to walk in the
forest '
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80. -Find the adjective: Affection
| _ a.. affectl
/b. affet:tidnate
c. affectingly

d. affectionately

Choose the correct Homophone:

81. The — of a snow clad mountain
18 exciting.

_ a. Site .
. h. Cite
. Sight

d. None of these

82. Prasanna had a good —— for
stage plays.

a. Trup | b. Troop

¢. Trupe '} Trqupe.
83. He has a —— for writing.

a. Flare ~ b. Flairs

& Fléip 7 d. Fare:

84. _'ShakeSpeare has written dramas

appealing to all people of all ages.
- a. Simple present |

“b. Present continuous

¢. Past perfect

d. Present perfect
—

80.

Find the adjective: Affection

a. affect

" b. affectionate

c. affectingly

d. affectibnately |

' Choose the correct Homophone:

81.

82.

83.

84..

PON14VAD : 23-C

The

of a snow clad mountain

~ is exciting. .

a. Site

b. Cite

c. Sight

d. None of these

1,

Prasanna had a good —— for
stage plays.

a. Trup b. Troop

¢. Trupe d Troupe-
- He has a —— for writing.

a. Flare b. Flairs,

c. Flair d. Fare

Shakespeare has written dramas
appealing to all people of all ages.

a. Simple present
Present continuous

c. Past perfect

d. Present perfectf




85.

. inside a square- as shown in figure
given below. What is the area of
the shaded portion

a. 4 - b. 1- /2
e. 1/4— /4 d1-r/4
&

25 25,7 3
86. Evaluate ———¢ [—t—

11 22 161 18
' /a 162/30 ~h. 162/25
c. 40/161 _d. 25/161

87. For which of the following 87.

expressions would the value be

greater if 160 -were replaced by
1207

a. 1000 — 160

b, 160/ 1+-—1—)
160
1
e l1-—
- [ 160J

' /d Both a and c

PON14VAD 24-C

A circle of 1m radius is drawn | 85.

86. -

Eparemid

uLgfe, 18, @b
QarewrL

a_LQuwrarm @f
sHIEADEE aarudul Paag. QP
Aypdie ugdear uyliuere) ereren?

a. 4 — g

c. 1/4— /4

e 25 25,7 3
oB0S6s 11722 161 18

a. 162/30 b. 162/25.
. : t:
c. 40/161

d. 25/161

&Gy 2.drer sw;i‘ufr(asaﬂéa.' eraip e
160é@ vhars 120 & wrpHend
am@ge wHoGmert dupard?

Y
g v
e

a. 1000 — 160

b. . 160/(1+11—

60) o . oo
T
. _
o =110 £2p =
d. a wppw c
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88. What is the positive difference
between the number of distinct
prime factors of 15% and the

number of distinct factors of 643

/1 d. 4

89.

b. 3 ¢ 5

The arithmetic mean of a set of
, four numbers is 8.75. when a fifth
5 ' number is introduced to the set,

the mean of the set becomes 8. |

What is the fifth number
a. 8375 ~
c. 10.3

b. 8.6
A 5

90. If the éverage of 27-x, x-8 and
3x + 11 1s y, what is the average
of 2y and 2y/3
a. 4x + 40
b, (4x + 4003
c. (8x + 80)/3"

d (@x+ 2003

91. If increasing 20 by P percent
‘ gives the same result  as
A o decreasing 60 by P percent, what
oot T_L 1s P percent of 70?7
feo e
a. 45 k. 35
Boipo b
' c. 60 d. 50
0 -P
Lo-p | ib’.’{ly '}é..fw
4o 2P =°‘¢‘ \gp . ¥
-2 =7 o o
pe 2,92 If x*x® =1 and x#+l,a+b
a)y x b -1 cc 0 d) 1
PON14VAD
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88.

89.

90.

91.

92.

GAS

152 wpgib 64° a@p ETEEH®LL
gefiss uvaré srpefisaiear &L
Capur® aeer?

a1l b 3 ¢ 5 d 4

prang cramsafiarn s B& sryewd 8.75
RHETUSTE @ TADRE Sl lq GTID
W@ syrsfl 8 ydapdseiad b
phsraig oTem erenan ?

a. 8375 . b. 86

¢. 103 d 5

27-%, x-8 WHYLD 3x + 116 ggrefl y
aafid, 27 wpmw 2y/3er FpmEfl srars
a. 4x + 40..

b. (4x + 40)/3

¢: (8x + 80)/3

d. 2x + 20)/3

20 g P% afsfssrgd, 60g P%
gopssrgnd  @Cr Qzrens
da smAwefld, 70ér P% ererer?

a. 45 b. 35

¢. 60 - d. 50

xx" =1 ppgin - x =+, aela,
a+b="? )
b) d 1

a) x -1 ¢ 0.

s\




93,

94

a 222
. T Oy
C 4\/5 d. 8 ? N

95.

96.

PON14vAD

If 57 > 10 ;000 and » is an integer,

what is the sma]lest poss1ble value
of n

A5
c. 9

'What is the length of a leg of an
isosceles right triangle w1th a
hybotenuse of 8 inches

S ol
: iy
o '*‘.\’}"
The length of each side of square
A is increased by 100% to make
square B. If the length of the side
of square B is increased by 50% to
make square C, by what % is the
area of square C greater than

the sum of the areas of squares
A and B?

a. 90% b 80%

c. 70% d. 150%

If an arc with length of 127is
3/4™ of the circumference of a

circle, what is the shortest
distance between the endpoints of
the arc?

a. 4

26-C

5" > 10,000 vpgd> 7 g @@p eT i

. aefld, W Qer @oppsuLls iy ag?

95.

86.

5 : " b. 6
9 N'\é d. 10

‘.\ \ﬁcv(/y

8 Q6 2oL Siaimss Qe
B svuss QsiiGsmarr &EGarens e
srlen Berd ercvauaray?

.a. 2\/5 _.b.4..

c.4\/— d 8
g%&f—\( X

A sgirgflar ussmisafan barsas
100% Sfsfissrd B syywhgw. B
&5y usshsdiiar Sarses 50%
Cafsfigsred C sgypn S pQuefie,
C egirgflar upliuaray A wpmi B
sgirtisaflear &C @ urlua@a &L
Tggmar sseldsi ofswns @ms@h?.

a. 90% b. 80%

c. 70% d. 150%

1277 Sard QsremL 2m do, @@
atLsfer 3/4 ukdlar spparain
F&r oraflep, <21 6l 6l & o) it

Doveoasais- SaLCu odar -

GMDHSULE FITb. eTewer ?

a. 4
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97. A chemist has 10 litres of a solution [ 97.
© - that 1s 10% nitric acid by volume. | -
He wants to dilute the solution to
4% strength by adding water. How |
many litres of water he must add
& 15 b 18
c. 20 d 25
98. In covering a distance of 30km, | 98.
x takes 2 hours more than y. |-
If x doubles his speed, then
\ he would take 1 hour less than y.
\(5/ /5 x’s speed is o
T ) |
'}% o E
A 2~ a T.5kmph. b. 6.25kmph
PO T |
3® ¢ 6kmph )i 5kmph
2 99. Two pipes A and B can fill a | 99
“\ - tank in 36min and 45min |
ol- G0 respectively. A water pipe C
-2 can empty the tank in 30min.
, First A and B are opened,
| /g after Tmin C is also opened. In |
. y.  how much time the tank will be
0" - full
g\ fu
%
;)9} { /a’ 39m1n b. 29mil__1 .
‘ .
4\@ - ;!5 ., ¢ 5H6min d. None
" _
30/\3 “ano
% 100. The microcomputer, Intel MCS-80 100.
_ is based on the widely used Intel
% ' 4. 8080 microprocessor '
3 b. 8085 microprocessor
D‘\g c. 8086 microprocessor
'5/0 d. 4004 microprocessor
3‘% PON14VAQ 27-C
_ "\
(ﬂ \‘50

a. 15

A wppbd B @pmisdr é@igﬁﬁLlﬁ.a)p |

@@ reardulcih 10 Ly Hraon |

o drarg. o 10% sard @plfs

sufanrgd. @idrasde 4% oplfis
bowrss Cadrluald, assoar
ALy sanafay Gsjés Caidm@o?

| b. 18

c. 20 d. 25

30 A.8. grswss sLEs X PG Y
aw L 2 waliGrrd fsd Ceaan
updpgy. X ey Casjop Q6
pLhsrsHemmd, ‘veaw &L @ we
Cprb GDUNS Ggmmuu@ﬂp@g,aﬂm

“x e Causmd crenren ? o . w
Ca. 7.5kmph‘ b 625kmph ?
c. 6kmph d. 5kmph - ng

frou 36 HlLn wpgd 45 HALD
wpapCu  Cgaailiu@w. C Gpraw
Aopsnd sdsn yew sl dsilaghe
30 Bl disdr Q@id. @pgdle A HHD
B @pmiisar Qmmuu@@a@m sfiwns 7
Al P55 C Gpmn ApssiuGApg:.
<Ly Queld, Qs gew Hriu
G0 GHb eremer? -

a 39 Gl

b. 29 AlLD

c. 56 Bl |

d. @mm;ﬂm THYW @mam;u
@mGL_co MCS-80 gmsmﬂaﬂ
Epsargyd aps pewdsudowu

SigliumLwnTed Qsraneararg ?
a. 8080 pem@swal .

b. 8085 mewm@ewed

c. 8086 mewQ@swd

d. 4004 mewmQswdl
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